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Answer any five questions
All questions carry equal marks

Max. Marks:75

l.a) DiscLtss r,'arioLts asyt'nptotic rtotritions usetl 1'ol best case. average case ancl r,rrorst
case :inalysis of algorithrns.

b) Dil'lerentiate hetvvcen priori analysis and posteliori analysis.

2.tl Write and expllrn uniorr und iirrd ulgor.ithrns.
b) what is articulation point and explain u ith suirable example.

3.a) Illustrate merse sort algorithm ancl cliscuss time cornple xity.
b) Explain cluick sort alsorithrn ancl simulare it for the followin-e data: 20.3,5.

[8+7]

[7+8]

10, 16.

L7+81

1.a)

b)

5+. I l. t.5

Write a Greeciy algoritl.rn.r to job sequencing with deadlines.
Explain Kruskal's algorithm to find the min cost spanning tree lvith an exanrpie.

[7+81

Solve the lbllowrng 0/l Knapsack protrler.r-i by using Dynanric pr-ogramnring
rrpploach.
N=4, (wr.w2.\v3.w4)=(10,15,6,9), (pr,pr,p:.p+)=(2.5,g,1) anct m= 30. t15l

6.a) Apply the bzrcktracking algorithm to solve the lcllowing instance of- the surn of
subsets problem S = {-5, 10, 12. 13, 1-5, 18} anci ci=30.

,b) Generate all Harniltonian path sequences in complete graph (K+) with ,l nodes: A.

l. Draw the portror-r o1' state space tree seneratec.l b1, I_CBB by the lbllowing
knapsack problerl n = 5. (pr. p:. It:.p+, ps) = (i0, 1-5.6. 8,4), (wr, w:. w3. wa, w5)
= (4. 6. 3. .1. 2) and r-n = 12. tl-51

8'r) Compare NP-hard artcl NP-cornpletene\s. Explairr detcrministic ancl Norr-
determini stic Algolithms.

b) Explain optirnization problem. Write non deterministic algorithn-i fbr sorting and
searching.

c) Discuss about Cook's theorem. 15+5+51
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